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('W""e'you,- Réll No. on the ‘tob' immediately on recéfpt- q)' this é.uestiﬁn paper.),' :
. .Qu.estion No. l;fis>compu.lsory. :
) ‘Attempt five questions in all.
Al qu‘e;tions ca;n& eéua!‘:marks.
‘ (.a)-A .”I“)Aeﬁne.t.he following. (z'my‘ five): i 5x1=5
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(i)  Okazaki fragment
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- (i) . snRNPs
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) ‘Polysomg

sugar back bone of a 5 ACG 3’ DNA pO'l)'n“c‘l?o- '

20% of the nucleotides in a 200 base pair 1078

 Differentiate between the fbllowing (any three).:

Split genes

MAT locus.

from the following DNA template : -

_ S-ATGCTCGATAGAY

o S ’~ I
' Dljaw the chemical structure of 5’ to 3’ pho,S? bf g

5

chain. -

o

molecule,ar'e‘ thymines. Find dut the pen‘éentage ?

nueleotides, - -

N
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What will be the sequence of RNA molecule transm"b it

oﬁ,ef .

@ B-&Z7.DNA
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(&) DNA'polymerasle 1 and DNA polyméras’e I -

(1)) Prgl{arybtic'promoter and et_lka‘ryotic promoter

() Group-I and Group-II Introns. _‘

‘ ()] :Name the' érizyme. involved in DNA me_thylaition Varid'

" write the signiﬁcancé of DNA methylation in -chromatin k

‘structure. 3
Write sho rt notes on the foiloWing (any three). ; -3x5‘=1'5".v
® va)lyaQiel.lhylatio-nl
@i). Alte;native s;_)_,li'qihlg:‘_
: .(ii{)‘ : Régulation of sporulatibh in Ba;illus.
- (."i’) Termination of tn.a.:ils'latﬁn. in pfokaiyotes. .
 Write in brief t’he.'ﬁmction'of the following (any ﬁﬂg;n) :
N | o Isxi=15 ,
(t) DNA’ Gyrase
@) . .Dl\‘IA,quyﬁerase‘a
| ' PTO.
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“Mut_S

* Uracil DNA Glycosylase'

Dicer

TBP

kbzak. sequénc;_ _
IF-1 :

EF-Tu
Chloramphenicol
A'UG"

ARS
B‘gélaCtosi;lase _

5 TATAA;[‘ 3

5" TTAGGG 3

B cla;ﬁ;)

5’ splice site.
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A covalently closed clrcular DNA of 10,500 base palrs,

.

has 10 negative supercmls Calculate the Lmkmg ,
-4

P

Diagrammatiéally explain the regulation of Lac operon. 6

.Explain the mechanism of DNA ‘replication in

Mitochondri. 5

How are tRNAs charged with‘s;';eciﬁc amino acids 7 Write
the stéps involved . in tRNA'bcharging.‘ o 4
Explaih tl{e_, mechanism of repair of a newly synthesized
DNA strand carrying mis-incorporated: nucleotides. ~ 6

Write about initiation of translation in prokaryotes. 5 .
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